

Module 4.9: Derivative of the activation function

Now, the only thing we need to figure out is how to compute g'

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$\begin{aligned} g(z) &= \sigma(z) \\ &= \frac{1}{1 + e^{-z}} \end{aligned}$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$g(z) = \sigma(z)$$

$$= \frac{1}{1 + e^{-z}}$$

$$g'(z) = (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z})$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$g(z) = \sigma(z)$$

$$= \frac{1}{1 + e^{-z}}$$

$$g'(z) = (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z})$$

$$= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z})$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$g(z) = \sigma(z)$$

$$= \frac{1}{1 + e^{-z}}$$

$$g'(z) = (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z})$$

$$= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z})$$

$$= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right)$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$g(z) = \sigma(z)$$

$$= \frac{1}{1 + e^{-z}}$$

$$g'(z) = (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z})$$

$$= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z})$$

$$= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right)$$

$$= g(z)(1 - g(z))$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

tanh

$$g(z) = \sigma(z)$$

$$= \frac{1}{1 + e^{-z}}$$

$$g'(z) = (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z})$$

$$= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z})$$

$$= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right)$$

$$= g(z)(1 - g(z))$$

$$g(z) = \tanh(z)$$

$$= \frac{e^z - e^{-z}}{e^z + e^{-z}}$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$\begin{aligned}g(z) &= \sigma(z) \\&= \frac{1}{1 + e^{-z}} \\g'(z) &= (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z}) \\&= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z}) \\&= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right) \\&= g(z)(1 - g(z))\end{aligned}$$

tanh

$$\begin{aligned}g(z) &= \tanh(z) \\&= \frac{e^z - e^{-z}}{e^z + e^{-z}} \\g'(z) &= \frac{\left((e^z + e^{-z}) \frac{d}{dz} (e^z - e^{-z}) - (e^z - e^{-z}) \frac{d}{dz} (e^z + e^{-z}) \right)}{(e^z + e^{-z})^2}\end{aligned}$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$\begin{aligned}g(z) &= \sigma(z) \\&= \frac{1}{1 + e^{-z}} \\g'(z) &= (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z}) \\&= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z}) \\&= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right) \\&= g(z)(1 - g(z))\end{aligned}$$

tanh

$$\begin{aligned}g(z) &= \tanh(z) \\&= \frac{e^z - e^{-z}}{e^z + e^{-z}} \\g'(z) &= \frac{\left((e^z + e^{-z}) \frac{d}{dz} (e^z - e^{-z}) - (e^z - e^{-z}) \frac{d}{dz} (e^z + e^{-z}) \right)}{(e^z + e^{-z})^2} \\&= \frac{(e^z + e^{-z})^2 - (e^z - e^{-z})^2}{(e^z + e^{-z})^2}\end{aligned}$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$\begin{aligned}g(z) &= \sigma(z) \\&= \frac{1}{1 + e^{-z}} \\g'(z) &= (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z}) \\&= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z}) \\&= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right) \\&= g(z)(1 - g(z))\end{aligned}$$

tanh

$$\begin{aligned}g(z) &= \tanh(z) \\&= \frac{e^z - e^{-z}}{e^z + e^{-z}} \\g'(z) &= \frac{\left((e^z + e^{-z}) \frac{d}{dz} (e^z - e^{-z}) - (e^z - e^{-z}) \frac{d}{dz} (e^z + e^{-z}) \right)}{(e^z + e^{-z})^2} \\&= \frac{(e^z + e^{-z})^2 - (e^z - e^{-z})^2}{(e^z + e^{-z})^2} \\&= 1 - \frac{(e^z - e^{-z})^2}{(e^z + e^{-z})^2}\end{aligned}$$

Now, the only thing we need to figure out is how to compute g'

Logistic function

$$\begin{aligned}g(z) &= \sigma(z) \\&= \frac{1}{1 + e^{-z}} \\g'(z) &= (-1) \frac{1}{(1 + e^{-z})^2} \frac{d}{dz} (1 + e^{-z}) \\&= (-1) \frac{1}{(1 + e^{-z})^2} (-e^{-z}) \\&= \frac{1}{1 + e^{-z}} \left(\frac{1 + e^{-z} - 1}{1 + e^{-z}} \right) \\&= g(z)(1 - g(z))\end{aligned}$$

tanh

$$\begin{aligned}g(z) &= \tanh(z) \\&= \frac{e^z - e^{-z}}{e^z + e^{-z}} \\g'(z) &= \frac{\left((e^z + e^{-z}) \frac{d}{dz} (e^z - e^{-z}) - (e^z - e^{-z}) \frac{d}{dz} (e^z + e^{-z}) \right)}{(e^z + e^{-z})^2} \\&= \frac{(e^z + e^{-z})^2 - (e^z - e^{-z})^2}{(e^z + e^{-z})^2} \\&= 1 - \frac{(e^z - e^{-z})^2}{(e^z + e^{-z})^2} \\&= 1 - (g(z))^2\end{aligned}$$